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s=0 mgs =0

Irred. Representation : I's

B = —J+U+10W + (COS 1) 1 gin (91)> N
V3
|W190) 14,0,0,T'32)
= (1201 (]0022) — [0220) — [2002) + |2200))
+  Ci20,2 (|02du) — |02ud) — [0du2) + |0ud2) + |20du) — |20ud) — |2du0) + |2ud0)
—|d02u) — |d20u) + |du02) + |du20) + |u02d) + |u20d) — |ud02) — |ud20))
+ Ci203 (|dduu) + |duud) + |uddu) + |uudd))
+ Ci204 (|dudu) + |udud))
Ci20-1 = t(J+ U)
+ (t(U —2W) + <M + tsin (01)> \/A1>
V3
Cizs = + (—72 =20 + 4w - U?)
- 4
1
+ ( J+U = W)W+ (— cos (261) + V3sin (2601) + 2) Al)
Cl20—3 = t(J + U
+ ((tcojéel +tsin (01)> VA —HU - 2W))
Ci20-4 = J+U)
( (3(U —2W) — (VBcos (61) + 3sin (61)) \/A1)>
Nigg = \/40120,1 + 1601220,2 + 4(;'1220,3 + 201220,4



